Advanced Algebra w/ Trig 6.6 Solving Radical Equations Name:

Solve the following radical equations for x. Be sure to check for extraneous solutions!

1. 
$$5^{2} = (\sqrt{4-6x})^{2}$$
  
 $25 = 4 - 6x$   
 $21 = -6x$   
 $-6 - 6$   
 $-21 = x$ 

Check: 
$$\sqrt{4 - 8(-\frac{21}{8})}$$
  $\sqrt{4 + 21}$   $\sqrt{25} = 5 \sqrt{25}$ 

$$2.(\sqrt[3]{2x})^{\frac{3}{4}} + 2^{\frac{3}{4}}$$

$$2 \times = 64$$

$$2 \times = 32$$

$$2 \times (\sqrt[3]{2x})^{\frac{3}{4}} + 3^{\frac{3}{4}}$$

$$3 \times (\sqrt[3]{2x})^{\frac{3}{4}} + 3^{\frac{3}{4}}$$

$$= 4$$

3.
$$(\sqrt{x-5})^2 = 4^2$$
  
 $\times -5 = 16$   
 $\times = 21$   
Check:  
 $\sqrt{21-5}$ 

$$\frac{\text{Check:}}{\sqrt{21-5}}$$

$$\sqrt{16} = 4\sqrt{21}$$

4. 
$$(\sqrt{3x+1})^2(-5)^2$$
  
 $3x+1=25$   
 $3x=24$   
 $x=24$   
 $x=24$   

5.
$$(\sqrt[3]{3x-6})^{\frac{3}{2}} = 3^{\frac{3}{2}}$$
  
 $3x-6=27$   
 $3x=33$  Check:  
 $\sqrt[3]{3(11)-6}$   
 $\sqrt[3]{33-6}$   
 $\sqrt[3]{27}=3$ 

6. 
$$2+\sqrt{3x+7}=6$$
  
-2 -2  
 $(\sqrt{3x+7})^2=4^2$   
 $3x+7=16$   
 $3x=9$   
 $x=3$ 

7. 
$$\sqrt{x-4}-1=5$$
  
 $+1+1$   
 $(\sqrt{x-4})^2 = G^2$  Chec  
 $x-4=3G$   $\sqrt{40}$   
 $\sqrt{x}=40$   $\sqrt{3}$ 

8. 
$$(2x+3)^{\frac{1}{3}} = 2$$
  
 $(\sqrt[3]{2x+3})^{\frac{3}{3}} = 2^{3}$   
 $2x+3=8$   
 $2x=5$   
 $x=\frac{5}{2}$ 

check: 
$$(2(\frac{5}{2}) + 3)^{1/3}$$
  $(5+3)^{1/3}$   $8^{1/3} = \sqrt[3]{8} = 2\sqrt{3}$ 

$$\begin{array}{c} X-4=3G\\ \hline X=40 \end{array}$$

$$\sqrt{36} - 1$$
 $6 - 1 = 5 \checkmark$ 

$$X = \frac{5}{2}$$

$$8^{1/3} = \sqrt[3]{8} = 21$$

$$9((2x-4)^{\frac{1}{4}})^{\frac{4}{5}} = (-2)^{\frac{4}{5}}$$

$$2x-4 = 16$$

extraneous

no real solution

(2(10)-4)<sup>1/4</sup> (16)<sup>1/4</sup>

$$\sqrt[4]{16} = 2$$
  
 $2 \neq -2$ 

10. 
$$4 - (1 - 7x)^{\frac{1}{3}} = 0$$

$$\frac{-(1-7x)^{1/3}=-4}{-1}$$

$$\left[ \left( 1 - 7x \right)^{1/3} \right]^3 = 4^3$$

$$1-7X = 64$$

$$-7x = 63$$
  
 $x = -9$ 

11. 
$$(\sqrt{3x-2})^{\frac{2}{2}}(\sqrt{x-4})^{\frac{2}{2}}$$

$$3x - 2 = x - 4$$

No real sound

$$2x = -2$$

X

extraneous reg

## Check

$$\sqrt{3(-1)-2} = \sqrt{-1-4}$$

$$13.\left(\sqrt{x-1}\right)^{2}\left(4\sqrt{x+1}\right)^{2}$$

$$X-1=4^{2}(X+1)$$

$$X - 1 = 16(X + 1)$$

$$x - 1 = 10x + 10$$

$$-17 = 15X$$

$$x = -17$$

12. 
$$(\sqrt{x+1})^2 = (\sqrt{2x-7})^2$$

$$X+1=2X-7$$

$$8=X$$

$$\frac{1}{\sqrt{8+1}} = \frac{1}{\sqrt{2(8)-1}}$$

$$\frac{1}{\sqrt{9}} = \frac{1}{\sqrt{9}}$$

**14**. 
$$(\sqrt{3x+2}) = (5\sqrt{x-7})^2$$

$$3x+2=25(x-7)$$

$$3 \times + 2 = 25 \times - 175$$
  
 $-3 \times -3 \times$ 

$$2 = 22x - 175$$
  
+175 +175

$$X = -\frac{17}{15}$$

$$\frac{177 = 22X}{22}$$

$$\frac{177 = 22X}{22}$$

$$\frac{177}{22} = X$$

$$\frac{177}{22} = X$$